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DIRECTORATE OF GOVERNMENT EXAMINATIONS, CHENNAI - 6
S.S.L.C PUBLIC EXAMS- MARCH / APRIL-2024

KEY ANSWER FOR MATHEMATICS
MARKING SCHEME- KEY ANSWERS

GENERAL INSTRUCTIONS

1. If a student has given any answer which is different from one given in this

marking scheme, but arrives with correct answer, should be givén full

credit with appropriate distribution.

_In section I, award 1 mark for the correct option code ar_td the

corresponding answer. If one of them (Option or Answer) is wrong then

award ZERO mark only.

. In section 11, section Ill & section IV if the solution is correct then award full

mark directly. The stage mark is essential only if the part of the solution is

incorrect.

. If a particular stage is wrong and if the student writes the appropriate

formula then suitable mark which is attached with that stage should be
awarded for the formula. Mark should not be deducted for not writing the

formula, if the student arrives at the correct answer.
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PART | Maximum Marks:10¢
jons
Answer all the ques—tlji‘/,ﬂ___mmm aalie 14x1-14
——— option | KEY ANSWERs T WARKE—
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9. (b) 25 sq.units 1
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PART-II
Answer any Ten Questions,
Q.NO : 28 Compulsory Question 10 x2 =20
i a B ) | Step | Total
X Answers ' marks . marks
% .
15. A={3 5} —_— - ; 1
B={(2 4} 1| 2
16. fog(x) = 6x + 3k =2 R ‘
90f(x)=6x—4+k} P
k= -1 » e
17. 800 = 25 x 52 : 1 ;
a=2,b=5(or)a=5,b_—_2 2
18. 3x3z
S5y3 ;
0 - |
Sum ofroots = —b = -8 ! i
a ':
Product of roots = =t —65 1 ! 2
[If answer is not correct, One mark should be
awarded for formulas]
20. AC? = AB* + BC?(or) 1: 0]
AC? = 182 + 242 (or)
AC =182 + 242 %
| 2
AC=30m 1=
21. 2a+b=3 RN D
a=2, b=-1 1 \
e L e D 1
22, y—y, =m(x—x,) (or) |
g e
-2=—(@x+1)
% 4 |2
5x+4y-3=0 1 j
*—*—_’_‘_‘L‘__ﬁw—
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23. 1+4cos® _ \‘\\
1 — cos©
1+ cos© 3 1 fi EES’—(O?‘)COSsce + cotQ
sin® i_i&u’@/—*\\»\\\ )
24, Base Area =nr? = 1386m° L = —
TSA = 4158m?
2
2 E i
25, Base Area =rr? =250 m e
Volume =500m’ g
26. Range=L— S = 49 L — |
49 |
co.efficient of Range = 7<= 5 (or) 0.576 2
[ If answer is not correct, One mark should he e
Awarded for formulas] , |
27. B € 2 e e S
G = { Sun — Mon, Mon — Tue, Tue — Wed, ‘(
Wed — Thu, Thu — Fri, Fri — Sat, Sat — Sun }
%
(or) |2
n(S)=7 |
P(A) =2
28. a“bq+r 0<r<|b|
H.C.F =1
2
l'l('i\:vf? marks should be awarded if answered in |
erent methods] ]
4] F’ a
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Answer any Ten Questiong PART"."
Q.No : 42 Compulsory question Ldtim
Q.No ol il
Answers marks | marks
2. |A={2 }»B={0.l} C={1 :
BUC ={0,12) 2
AX(BU(C) =
)= 1Q20),21). (22, 301, (3.0, 3D} 1 5
AXB = {@0), (2,1), (30), 31y :
AXC={2n, (2,2), 3,1), (3.2)} 1
(AxB)u =
B DU Ax0) = {20),21).(22), 30), 3.1), (32)} 1
- OO s =5 :
1) Arrow diagram
A
1
5
i) Table - 0 |1 [2 [3
fGy{1 |3 |5 |7 1
iii) Set of Ordered pairsf = {(0,1), (1.3). (2,5), 3,7)} 1
iv) Graph
i
S
ot
] . (3,7)
6
5 . (2.5
1 1
il .3
2 B
1 40,1 >
HS 0173 .4 3 &0F S A ]
5|Pa e T
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__4---‘“‘2"/’“ o T ——
31, —  [(nn+1) B s
Z nd = T
3
93 + 103 + -+ 21 :
21 %22\ _ (8 X9¥’
= (———“") X 2 )
2 1
= 231% - 36° 1
= 52065 1
32.
gx2—x+1
8x2 | 64x* — 16x3 + 17x%2 — 2x + 1 1
64x*
(-)
16x% — x —16x> + 17x?
—163(3 + xz 2
()
16x%2 —2x +1 16x% —2x + 1
16x2 —2x +1 1
(-) (+) ()
0
Square root = |8x% — x + 1| 1
33. 2_(8 5 2
s 3)
15 5 —-15 =5 1
SA == —_ -t
(_5 10) (or) 54 ( 5 —10)
_ (7 0y
7h = (0 7) L
A2-s5a47,=(8 5\_(15 35)4+(7 0
t7h (_5 >) (Z 0+ 7
= (0 g) =0 1
34. | Statement 1
Diagram 1
Proof Prove, Construction 5
[Note : If there is no figure, then mark should be |
allotted for statement oyl . . —_—
6|P ahg e - .
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3. |

: 7
==X
5 0

1 36.

Mid pointof  AB =

5

X3 Xy 'x, x,I
V
72 V3 M N

(or)

~8 1
~4 -3 2

= 35 sq.units.

= _1_[ (ryy, + XoVs + x4y + x4¥1) ]
21=0ay + x5y, + x5 + 21Ya)

=4
-2

www.Trb Tnpsc.Com

R IR
RN

1

b | -,

T,

The slope of AB =23

The slope of perpendicular line =

Equation : y —y; = m(x — x,)
Sx—3y—-8=0

w|w

—t kb b

37.

g

30° 1

A

200 ™

45°

———

y=200m

b 200V3 + 200 = 346.4 + 200
= 5464m e, T S

.

1

1
1

e S

e e}
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38.

39.

" 2
x-%?-x4-5|'282+(28>‘7) +7°]
= |
L
X%Exa-slmw 196 + 49]

} =

—
—_—
v

i
Wl =S

2
_—.-l-xz—x 1029 x 45
¢ SE

= 48510 cm®

“Volume of cylinder =R*H

= mx 6x6x15 (or) 5407

i 2
Volume of ice cream cone = ~mr?h + Zr?

=457

Volume of cylinder
No of ice cream cones = N _
Volume of an ice cream cone

T X 6x6x15 540 1

451 451

il
—
o
=
S’

No of ice cream cones= 12

40.

x =30
Table

S.D(0) =4.32
g
C.V=-=x100
X

C.V=14.4%
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_-—‘/-H—‘“““ T N ———— B e
38, |V Lmh[R? + Rr+ 1]
3

a1

n(s) =36
P(A) =§§
P(B) = .:;S.E

P(An B) =3
36

P(Au B) = P(A) + P(B) - P(ANB)

MN Pl

e —rs - AL
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2. | Se=TH77 iy 5 ] P
T Nterms :
=7(1+11+ 1
1 1+.._ n terms)
=5 (9 +99 4 g 1
) 1 999 ¥+ terms )
=21(10 - 1y 4
3 D+ (100 - 1) 4 (1000 — 1) + = nterms)]
sl +100+1000+ n terms) -n)] L >
. a(r™ -
herea =10, r=1g
_7{10(10" - 1y
E ) T 10=1 - n)
1’
: o Z 10(10”‘1) 70(10M 1)
| - e =il == D
) oo (s '
Part -Iv
Answer all the questions 2X8=16
QNo | Anadhs Step ; Total
| | marks = marks
(43 ' Rough diagram 1 |
| @) | Drawing line segment  BS:
i i . " 1
i - Drawing circle 3 !
Marking altitude g
' Construction of A PQR o |
'f | . £
R = S R
Rough diagram |
(b) Drawing the first circle 5 |
Drawing the line segment of 8 cm 1
Drawing the second circle 2
Drawing the two tangents | 1
— 7 % 7.4 cm(or) 7.5 cm
Length of a tangent = 7‘5 Cm(Of) 74 . ( = ) i 1 1
B9 rag
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44(a) | x axis, y axis i (

Scale |
ym;{'\‘? - 3x =0 [ Any b pOlntE‘]
x_ |3 |2 ] ’0 1 ‘2 3[4 ,
v 22 jo lo J-5_1-8_|-3 J4 |15 <
Plot the points and drawing the parabola :
y=x+ 1 [minimum 2 points]

X [ Jo 1 {2 < ’
Drawing of straight line 1
Solution x={-13} L F|

(OR)

b) T T — AN ——
Scale 1
xy =24 ( Any five points)

125 e fe Ta [ (24| )
y (24 112 |8 |6 |4 |3 |2 1

Plot the points and drawing the Rectangular parabola 2
if x=3, y=8 1
if y=6, x =4 1
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